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2022

MASS COMMUNICATION & JOURNALISM
(General)

Paper Code : 501 MCJG DSE-1A & 1B
B (CBCS)
Full Marks : 32 B Time : Two Hours

The figures in the margin indicate Jull marks.
Candidates are required to give their answers
in their own words as far as practicable. |

Paper Code : 501 MCJG DSE-1A
[Advertisement and Public Relations] |
Group - A |
‘1. Define any five of the following : =~ 2x5=10
(@) Public in PR |
((b) Brand image
Zc) Press kit
)
(d) Marketing mix
(e) CSR
@ UsP
(g) House Journal
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Group - B

s on any three of the following :

_ Write short note
2 4x3= 12

‘(@) SWOT analysis
(b) Surrogate advertising
(c) PRSI
(d) ,Prvopgaganda
(e) Advertorial
/ N
Group - C

‘3. Answer any one ofthe followmg IO><1=IO

(a) What is crisis management‘? DISCUSS various stages
7 . of crisis management in PR. ' 4+6=10

. (b) What is advertlsmg agency? Discuss the functions
f an advertisement agency. 2+8 10 -
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Paper Code : 501 MCJG DSE-1B

[Development Journalism]
| Group - A
1. Define any five of the following : 2x5=10
(a) Social marketing
(b) Media advocacy
~ (¢) Social 'mobilizaﬁonv
(Y Sustainabie Developmeﬁt g
| (€) Participatory developmeht
® Mx]lenmum Developm/ent Goals
(@ First erld ‘ i |
RS ) Gfoup-B .

2. Write short notes on any three of the following :
' o8 4x3=12

(a) Develdpment Journalism =
h(b) ijnder devveloped‘ Vcovunu-ies ,
QEDL .. o
(@) ©T for development
(é) Behaviour Change Communication



( 5)
Group - C
3. Answer any one of the followihg :

(a) What is ‘Developing nation’? DISCUSS the main
charactenstlcs ofa developing nation.

(b) What is rural development? What role should media
play for the development of rural India? 2+8=10
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